
0 

ورقة عمل 

الرياضيات 

ورقة عمل 7
التناسب الطردي 

والعكسي 



1 

ورقة عمل 

الرياضيات 

  السؤال الأول:

:
ً
ها تمثل تناسب عكسيا

ّ
 وأي

ً
 طرديا

ً
د أي العلاقات الآتية تمثل تناسبا

ّ
أحد

a. 𝒙 −3 −1 1 3 b. 𝒙 1 3 6 9 

𝒚 −6 −2 2 6 𝒚 36 12 6 4 

c. 𝒙 0.5 1 1.5 2 d. 𝒙 0.5 1 2 0.25 

𝒚 1 2 3 4 𝒚 8 4 2 16 

e. f. 

𝑘⟸التناسب الطردي   :تذكير =
𝑦

𝑥
 ,   𝑦 = 𝑘 × 𝑥

𝑘 ⟸ التناسب العكسي  = 𝑥 × 𝑦     ,    𝑦 =
𝑘

𝑥

𝑦 

𝑥 
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1 2 3 4 5 

12 ⋅
⋅

⋅
⋅

 تناسب طردي

𝑦 
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30 
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24 ⋅
⋅ ⋅ ⋅

 تناسب عكسي
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  السؤال الأول:

:
ً
ها تمثل تناسب عكسيا

ّ
 وأي

ً
 طرديا

ً
د أي العلاقات الآتية تمثل تناسبا

ّ
أحد

a. 𝒙 −3 −1 1 3 b. 𝒙 1 3 6 9 

𝒚 −6 −2 2 6 𝒚 36 12 6 4 
−6

−3
= 2     , 

−2

−1
= 2 

2

1
= 2     , 

6

3
= 2 

تناسب طردي

1 × 36 = 36 
3 × 2 = 36 
6 × 6 = 36 
9 × 4 = 36 

 تناسب عكسي

c. 𝒙 0.5 1 1.5 2 d. 𝒙 0.5 1 2 0.25 

𝒚 1 2 3 4 𝒚 8 4 2 16 
1

0.5
= 5     , 

2

1
= 2 

3

1.5
= 2     , 

4

2
= 2 

تناسب طردي

8 × 0.5 = 4 
1 × 4 = 4 

2 × 2 = 4 
0.25 × 16 = 4 

 تناسب عكسي

e. f. 

𝑘⟸  التناسب الطردي :تذكير =
𝑦

𝑥
 ,   𝑦 = 𝑘 × 𝑥

𝑘 ⟸ التناسب العكسي  = 𝑥 × 𝑦     ,    𝑦 =
𝑘

𝑥
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 تناسب طردي
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 تناسب عكسي




